
1-6 83 67 50 33 17 0

1) 2 × 0.1 =

2) 2 × 0.77 =

3) 3 × 0.5 =

4) 4 × 0.49 =

5) 2 × 0.6 =

6) 2 × 0.6 =

1.

2⁄10 = 0.2

2.

154⁄100 = 1.54

3.

15⁄10 = 1.5

4.

196⁄100 = 1.96

5.

12⁄10 = 1.2

6.

12⁄10 = 1.2

     

Use the visual model to solve each problem.

Multiplying Decimals (Visually)

Math www.CommonCoreSheets.com

Name:

Answers

5nbt7



1-6 83 67 50 33 17 0

1) 2 × 0.1 =

2) 2 × 0.77 =

3) 3 × 0.5 =

4) 4 × 0.49 =

5) 2 × 0.6 =

6) 2 × 0.6 =

1.

2⁄10 = 0.2

2.

154⁄100 = 1.54

3.

15⁄10 = 1.5

4.

196⁄100 = 1.96

5.

12⁄10 = 1.2

6.

12⁄10 = 1.2

     

Use the visual model to solve each problem.

Multiplying Decimals (Visually)

Math www.CommonCoreSheets.com

Name:

Answers

5nbt7

Answer Key


	Worksheet
	Answer Key

